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HS HEHB 2 223
110 7 7 7 0 00
o121y
110-03 7 7 7 0 0.0
SENE
210 9N 91 91 0 0.0
2|
210-01 67 67 61 A6 A94
AL |
210-02 4 4 4 0 00
22RIUHA
210-07 9 9 9 1 64
ozl
210-16 2 2 18 6 483
JlEr2 |
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2OHSIE)IZ/2HUS YR [l : Bk, %]
Cop b o . g 20154 7= I . zus
20F 22 T2 ORI HIRAY 2 HIS ox T 20164 HE(B) | ELC=B-A) | T
320 19,008 19,028 20,138 1,110 58
2I12H0]
320-01 19,026 19,026 19,636 610 3.2
RV S
320-03 2 2 2 0 0.0
EEWEE
320-07 0 0 500 500 &5
ENELES
330 0 0 1,400 1,400 23
REXISHHIOI &
330-01 0 0 1,400 1,400 2=
RSP BE
307 47,156 47,156 50,944 3788 80
xS 23 0l=AI2iol X2
320 47,156 47,156 50,944 3788 80
2I2H0|
320-01 47,156 47,156 50,944 3788 80
IRIAABE
5162 42,678 42,678 45,203 2615 6.1
NE ME7IS X2
300 12,176 12,176 13,172 96 82
AmEAT0IBA XD
110 17 17 17 0 Al2
o121y
110-03 17 17 17 0 Al2
SENE
210 396 396 304 A% A232
2|
210-01 336 336 239 A97 A289
AL |
210-02 0 10 15 5 500
22RIUHA
210-09 0 0 10 10 =5
ANEEHIS X
210-16 50 50 40 A0 A20.0
JlEr2 Yl
320 3 3 3 0 62
DI2H0| A
320-03 3 3 3 0 62
EEWEE!
330 11,760 11,760 12,848 1,088 93
XEXIEHRI01
330-01 11,760 11,760 12,848 1,088 93

AR SHHBEER
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2OISEE) 2/ SRS [Chol : wiokel %)
N o . 20151 H 2! . o =g
20 2 T2 SN HIRAY 2 A o= T 2016 H2(B) | SLC=B-A) | T/n)
301 30,502 30,502 32,121 1619 53
MEYSNTK BE XA(ABIAMEIA)
330 30,502 30,502 32,121 1619 53
XHXI 4RI OI &
330-01 30,502 30,502 32,121 1619 53
TR SHRIZ AL P T
5163 131,836 131,836 143,318 11,482 87
MBI SAIE X
300 48,449 48,449 46,850 A1509 433
2OISHE AL
210 100 100 50 A50  A50.0
29|
210-01 100 100 50 A50  A50.0
usr2|
330 48,349 48,349 46,800 A1549 A32
THXIEHIOI &
330-03 48,349 48,349 46,800 A1509 A32
XX ST = 2
303 25,360 25,360 14860  A10,500 A41.4
NS O=SRMST A
210 100 100 100 0 00
2|
210-01 100 100 100 0 00
uBrgY|
330 25,260 25,260 14760  A10,500 A41.6
THXIEHIO1 &
330-03 25,260 25,260 14760  A10,500 A41.6
N[ PN EES
306 14,200 14,200 35,164 20,964 147.6
JIZMERS Mt N8
320 4,500 4,500 5,740 1240 276
0I2+0] A
320-07 4,500 4,500 5,740 1240 278
RIS
330 9,000 9,000 24,595 15595 173.3
THXIEHIOI &
330-03 9,000 9,000 24,595 15,595 173.3
N[ IR
420 700 700 4,829 4129 589.9
24|
420-01 500 500 0 A500 =2
=X AR ]
420-06 200 200 4,829 4629 2314

HEAE
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20 22 T2 CAIY NEAIY 2 h= 20154 = 20164 AHIE(B) | S2(C=B-A) =8
309 43,827 43,827 46,444 2,617 6.0
Z2HSAIE 2L X

330 43,827 43,827 46,444 2,617 6.0
KXISHHIOIA
330-03 43,827 43,827 46,444 2,617 6.0
KNXIEHAE2E S
5164 34,967 34,967 34,967 0 0.0
studs 24
300 12,776 12,776 12,776 0 0.0
ZSstn ALXZ2EAL HEX] XI&
330 12,776 12,776 12,776 0 0.0
KEXISHHIO1A
330-01 12,776 12,776 12,776 0 0.0
TR S ZE A2 X
301 22,191 22,191 22,191 0 0.0
YIS ATXI2) 2HX|
320 22,191 22,191 22,191 0 0.0
QI2t01 A
320-01 22,191 22,191 22,191 0 0.0
QIIHEAEX
5200 327,629 327,629 418,666 91,037 27.8
HEH=EEY
5261 278,711 278,711 361,017 82,306 29.5
tietxl=sl XI&
300 13,192 13,192 13,108 A34 AQ06
Oigtxi=ssl 2GS XA
320 13,192 13,192 13,108 A34 AQ6
oI2t01 A
320-01 13,192 13,192 13,108 A34 AQ6
QIZHEASE R
301 31,070 31,070 29,659 Al 411 A4S
ZIISH X2
320 31,070 31,070 29,659 Al 411 A4S
oI2t01 ™
320-01 31,070 31,070 29,659 Al 411 A4S
QIIAEAEX
307 15,874 15,874 17,904 2,030 12.8
SIREHAZXRS Y
320 15,874 15,874 17,904 2,030 12.8
0I2t0|H
320-01 15,874 15,874 17,904 2,030 12.8
QIIAEASEE
308 45,994 45,994 115,400 69,406 150.9

=OMHE SSEHE HE(2EH)
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XIS =E R

20F 22 TR0 SRAY HRAR 2 A 20158 A= 2016 J(8) (C=B-p) | 5B
320 45,994 45,994 115,400 69,406 150.9
DI2H0|
320-07 45,994 45,994 115,400 69,406 150.9
DRIREEE
312 72,979 72,979 78,981 6,002 8.2
SANMALNTIS
320 72,979 72,979 78,981 6,002 82
0I2H0| &
320-01 70,009 70,009 73,430 3421 49
DRIFAEE
320-07 2,970 2,970 5,551 0581 869
DI
315 0 0 2,000 2000 ==
ZHsYSR A
320 0 0 2,000 2000 ==
012401 F
320-07 0 0 2,000 2000 ==
DI
316 5,291 5,291 2,076 A3215 A608
ST =4
320 5,291 5,291 2.076 A3215 A608
DI2H0| &
320-01 5,291 5,291 2,076 A3215 4608
DIRIHATE
317 94,311 94,311 101,889 7578 80
ZE I
320 94,311 94,311 101,889 7578 80
012401 H
320-01 94,311 94,311 101,889 7578 80
BIRIHAEE
5262 34,776 34,776 42,359 7583 218
NEHSHS
300 34,776 34,776 42,359 7,583 21.8
HR(ANA X2
320 6,890 6,890 7,040 150 2.2
012401 F
320-01 6,890 6,890 7,040 150 2.2
BIRIHATE
330 27,886 07,886 35,319 7433 267
XFXISHRI 01 &
330-01 8,519 8,519 8,519 0 00
KR SHHZ AL B X
330-03 19,367 19,367 26,800 7433 384
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20 22 T2 CAIY NEAIY 2 h= 20154 = 20164 AHIE(B) | S2(C=B-A) sas
5263 14,142 14,142 15,290 1,148 8.1
M= XA

300 10,774 10,774 11,392 618 5.7
M S XA
310 8,995 8,995 9,513 518 5.8
283
310-01 8,995 8,995 9,513 518 58
243
320 1,779 1,779 1,879 100 5.6
0I2+0| ™
320-01 1,779 1,779 1,879 100 56
QIIAEAMEE
301 3,368 3,368 3,898 530 15.7
HOHH=O EXAMY
310 2,692 2,692 3,197 505 18.8
EESE
310-01 2,692 2,692 3,197 505 18.8
Ba=
320 676 676 701 25 3.7
9I2H0| &
320-01 676 676 701 25 3.7
QIHHEAEX
5300 500,749 503,283 565,032 61,749 12.3
ALRMYE 24 D YR
5361 412,928 413,962 409,525 A4 437 A1
M= X2
300 3,393 3,393 3,485 92 2.7
ZHHSWNE XK
320 3,393 3,393 3,485 92 2.7
I2t0|1 &
320-01 3,393 3,393 3,485 92 2.7
QIZHE AR
301 3,429 3,429 4,347 918 26.8
e N =N
320 3,429 3,429 4,347 918 26.8
I2t0|1 A
320-01 3,429 3,429 4,347 918 26.8
QI AR
302 5,229 5,229 7,223 1,994 38.1
=ME izl XA
320 2,929 2,929 5,273 2,344 80.0
gI2+0| &
320-01 2,929 2,929 5,273 2,344 80.0
QIIAAE R
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[E] 3| =oI=
S0 22 D20 S9N HRAY 2 IS s 2OTOEL A= ] 206 HEE | s2e=s-A) | TS
330 2.300 2,300 1,950 A350 A152
XX EFIOI
330-01 2,300 2,300 1,950 A350 A152
MRIEHZ A BT
304 10,220 10,220 10,520 300 2.9
BlAS AE
320 10,220 10,220 10,520 300 29
012+01
320-01 10,220 10,220 10,520 300 29
RTINS
307 19,200 19,200 21,266 2066 108
BRSNS 2Y(25) N
320 18,200 19,200 21,266 2066 108
012+01
320-01 19,200 19,200 18,266 A% A4Q
SIEIEIEE S
320-07 0 0 3,000 3000 &3
GEIVCEES
309 42,130 43,164 0 ad3ies =
2015 ZEBAULIS NI
320 42,130 42,647 0 a6 =
0I2+01
320-01 42,130 42,647 0 A48 2
BIRIANBE
330 0 517 0 A517 =z
XRI IO
330-01 0 517 0 a517 2
R EHZ A BT
311 297561 297,561 343838 46277 158
2018 SHSYH2I IS X
320 2,150 2,150 2,700 550 256
DI2t01
320-01 2,150 2,150 2,700 550 256
BIRINBE
330 295,411 295,411 341,138 45,727 15.5
=L
330-03 295,411 296,411 a41138 45727 155
S NETE
312 6,402 6.402 5,896 A506 A7
HE= AZX LXII2(ODA)
320 5,708 5,708 5,196 A512  A90
0I2+01
320-0 5,708 5,708 5,196 AS512 90
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ZOHSIE) | S/ S22 [SHR] : YOkl %)]
e mo T ° o 20154 H= - oy =28
20F P2 T2 CIAIY HIRAY 2 M= o= PP 20164 HE(B) | =S2(C=B-A) C/A)
330 694 694 700 6 0.9
KX EFHI0 &
330-01 694 694 700 6 0.9
XIS B A2 X
314 5,364 5,364 6,950 1,586  29.6
2HRICIE =0t
320 5,364 5,364 6,950 1,586 29.6
012+ A
320-01 5,364 5,364 6,950 1,586  29.6
QIHHAIS R
316 20,000 20,000 0 A20,000 =%
2015 MIHZOIMSUE X
320 20,000 20,000 0 A20,000 =2
DIZH| A
320-01 20,000 20,000 0 A20,000 =
QIHHAE X
317 0 0 4,000 4,000 ==
2018 E2MHAIRSSAUS
330 0 0 4,000 4,000 ==
KEXISHHI 01 &
330-03 0 0 4,000 4,000 &=
XX SH R =E R
318 0 0 2,000 2,000 =&
2019 ZFHH =S SHSAAHS
320 0 0 2,000 2,000 ==
DIZHO| A
320-01 0 0 2,000 2,000 ==
DIHPAE X
5362 13,000 13,000 14,071 1,071 8.2
ALRAY 31 2 )| S IHEHR&D)
600 13,000 13,000 14,071 1,071 8.2
ATEAAD|SI|BEEA(RAD)
110 157 157 157 0 0.0
QI 4H]
110-02 122 122 122 0 0.0
JIEHRE S
110-03 35 35 35 0 0.0
UAzol=
210 438 438 200 A239 A54.4
29|
210-01 417 417 194 A223  A53.4
UBtA2H|
-02 1 1 1 Al A50.0

210
SS2S2LAA
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S0F SR T2 Ui HTAY 2 NS 2015 AE 2016 AEH(B) | ZAC-B-A | 7T o
210-07 20 20 5 Al5 A750
P
220 10 10 9 Al 4100
ol
220-01 5 5 3 A2 A00
= Lhoil
220-02 5 5 6 1 200
ERET
240 13 13 13 0 00
o2 TY|
240-01 13 13 13 0 00
ArRIZEZIY|
320 12,372 12,372 13,687 1,316 106
01210/
32001 12,350 12,350 13,667 1817 107
IEIEINEE S
320-03 22 22 20 A2 a70
SEVEE!
430 10 10 5 A5 4500
EE
430-01 10 10 5 A5 4500
T S
5363 5,003 5,003 4,832 A191 438
Amx8 X2
300 2,023 2,003 800 A1,223 A605
ATXS R
320 1,023 1,023 0 Al23 &2
2I2t0|
32001 1,023 1,023 0 Al23 &2
DI AT
430 800 800 800 0 00
EE
430-01 800 800 800 0 00
]
302 3,000 3,000 4,082 1,032 344
X ARRDEE 2o
320 3,000 3,000 4,032 1,082 344
81240/
320-01 3,000 3,000 4,082 1,02 344
IEIENIEE S
5364 19,746 21,046 48,279 27,083 1272
JIBES JIPAIE T
302 19,446 20,946 46,446 25500 121.7
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20F 22 T2 A HISARY 2 N2 201551 1= 2016 HE(B) | Z2A(C=B-A) | T
320 19,446 20,946 46,446 25500 121.7
gizold

320-01 19,446 19,446 23,446 4,000 206
HEIEINEE S
320-07 0 1,500 23,000 21,500 1433,
EDUES
308 300 300 1,833 1,533 511.0
SymAZxZZAA XY
320 300 300 1,833 1,533 511.0
EIELVES
320-07 300 300 1,833 1533 511.0
elRttEe s
5365 50,052 50,052 88,325 38273 765
ARENQ B
300 18,000 18,000 54,000 36,000 200.0
ALZNY ST
450 18,000 18,000 54,000 36,000 200.0
SX2
450-04 18,000 18,000 54,000 36,000  200.0
JIERIIE R
301 32,052 32,052 34,325 2,273 7.1
HSER S AXIAMASLGXIR
110 14 14 14 0 00
o124t
110-03 14 14 14 0 00
OI%%I:
210 4,932 4,932 5,010 78 16
S|
210-01 3,798 3,798 3,943 145 3.8
& ot=ZH]
210-02 33 33 33 123
SSQSLHA
210-03 8 8 5 A3 A375
=l
210-07 272 272 262 Al0  A37
Azt
210-09 65 65 80 15 231
INE=E = [E=N ]
210-10 22 22 7 Al5 A682
PN Sa bl
210-11 32 32 40 8 250
L]
210-15 150 150 350 200 133.3
SIEFAIZIHI
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e e o ° o 20154 HI= _ _ =2
0 22 T2 A MR2AE = M= oz <=0 2016 HIE/(B) =B-A) C/A
210-16 553 553 290 A2B? A475
JIEt2 I
220 72 72 72 0 0.1
lsl!
220-01 20 20 20 0 0.5
=LHOAHI
220-02 52 52 52 0 0.0
=220
240 30 30 30 0 1.0
SR FALI
240-01 30 30 30 0 1.0
yNgesE=rla]
310 36 36 0 A36 =2
BN3
310-03 36 36 0 A36 =2
ZA3S
320 5,105 5,105 5,718 613 12.0
QI2H0| ™
320-01 5,100 5,100 5,702 602 11.8
QIZHAAS R
320-03 5 5 16 11 219.7
HAZ2X=3
330 1,494 1,494 3,245 1,751 117.2
XSOl H
330-01 1,494 1,494 3,245 1,751 117.2
NXSHMBAEE
430 369 369 235 A134 A36.3
AR
430-01 369 369 235 A134 A36.3
S8
460 20,000 20,000 20,000 0 0.0
EN=
460-01 20,000 20,000 20,000 0 0.0
UBERS
5500 52,693 52,693 59,486 6,793 12.9
FoeINEsY
5561 52,693 52,693 59,486 6,793 12.9
ZoedE =4
300 18,895 18,895 21,505 2,610 13.8
ZOeINEHM 228 XA
320 17,204 17,204 19,814 2,610 15.2
Q1201 ™
320-0 8,504 8,504 8,630 126 1.5
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HSHE)Z/2eHS DY (9] : 84DI2l, %]
Cop o o o o 2015 A T . zas
S0F 22 D203 ORI HRAY 2 A2 ox T 20166 JH2U(B) | SAC=B-A) | Tn)
320-07 8,700 8,700 11,184 2484 286
HEIOEEES
330 1,691 1,691 1,691 0 0.0
REXISHIOI &
330-01 1,691 1,691 1,691 0 0.0
TR SHB A ST
301 33,798 33,798 37,981 4183 124
Hojel ML K
320 33,798 33,798 37,981 4183 124
RI2H0|
320-01 33,798 33,798 37,981 4183 124
DIRIANBE
9000 0 0 150,000 150,000 &=
J1226H2H
9001 0 0 100,000 100,000 &%
TTNZ2IZUHBBA222)IB)
840 0 0 100,000 100,000 &=
20MSTEIIZ0MN ZR2B2II2O2 HHEZHE)
480 0 0 100,000 100,000 &=
(EE
480-03 0 0 100,000 100,000 &=
2213013
9005 0 0 50,000 50,000 &=
12 2 HE(2HUENEIID)
840 0 0 50,000 50,000 &%
2WHSVEIIBUA SHNETEIIZO2 ®E
610 0 0 50,000 50,000 &=
e
610-03 0 0 50,000 50,000 &=
EESIETE=
065 65,818 63,284 97,812 34528 546
St
7200 26,135 26,135 27,593 1,458 5.6
JEELT
7281 26,135 26,135 27,593 1,458 5.6
20HSTEIIZ22H|
100 10,472 10,472 10,983 511 49
0121H|
110 10,280 10,280 10,789 508 49
oI21H|
110-01 9,206 9,206 9,617 411 45
S
110-02 479 479 493 14 30
plISEEES

- 339 -



_ 20154 A= _ =
20F 22 D20 HRINY NEAY 2 M2 — 20164 2(8) &
110-03 595 595 678 13.9
SELE
210 22 22 23 5.6
Sa
210-12 22 22 23 5.6
ERERE]
320 170 170 171 09
2I2H0| A
32003 170 170 71 09
EEWEE
200 959 960 1111 15.7
SIEEEL
210 851 844 1,003 18.8
Sa
210-01 666 662 813 228
2lok |
210-02 20 20 20 0.0
Z2RIUTA
21005 8 8 8 77
s20pAH)
210-06 2 2 2 0.0
ol %)
210-12 69 69 69 0.0
ERE]
210-16 85 83 90 8.8
BT
220 31 31 31 0.0
it
220-01 31 31 31 0.0
2ot
240 31 31 31 0.0
o2z a|
240-01 31 31 31 0.0
ArIZ=Z|
250 46 53 46 Al44
LRl
250-0 16 53 46 Al44
= gy
203 3,671 3,670 3,753 23
ESNEEE
210 3,606 3,605 3,599 402
Say
210-01 251 251 251 0.0
SR

- 340 -



Cop b o . o 20158 2= R . =g
201 22 T2 O9INY ARAY 2 IS ox o 20164 HE(B) | ELC=B-A) | T
210-02 621 620 621 02
222IURA
210-03 3 3 3 0 0.0
ET
210-09 345 345 338 A7 A20
NS ZHIS T
210-11 10 10 10 0 00
M=l
210-15 2,111 2,111 2,111 0 00
B ENET
210-16 267 267 267 0 00
JlEr2 )
220 2 2 2 0 00
ot
220-01 2 2 2 0 0.0
BN
240 7 7 7 0 00
EEES L
240-01 7 7 7 0 00
AT
430 57 57 146 89 1561
ST
430-01 57 57 146 89 1561
T
204 4,104 4,104 4,038 AG6  Al16
BRALRINLR 2
210 3,560 3,556 3,464 AR A26
29|
210-01 1,184 1,184 1,184 0 00
st 2|
210-02 316 316 316 0 00
2ZRILHA
210-05 4 4 4 0 0.0
204410
210-06 10 10 10 0 0.0
x|
210-07 58 58 25 A33 A573
Azt
210-09 318 318 255 AG3 A198
AEEHIS T
210-10 38 38 38 0 00
PNERLE
210-11 29 29 29 0 00
M=l
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S0F SR T2 Ui HTAY 2 NS 2015 AE 2016 AEH(B) | ZAC-B-A | 7T o
210-12 131 131 131 0 00
EEERT]

210-15 523 523 523 0 00
EENET
210-16 048 o4 948 4 04
JEr=g
220 133 133 128 A5 A38
ot
22001 45 48 40 A5 ATl
Sl
22002 77 77 77 0 00
ELEIE]
22003 11 11 11 0 00
=TS0
240 46 46 46 0 00
ol T|
240-01 46 46 46 0 00
APRIZEZ|
250 49 53 49 AL A75
& 248
250-02 49 53 49 AL A75
= ey
310 7 7 7 0 00
ERE
310-03 7 7 7 0 00
ENEE
430 299 299 334 % 117
S
430-01 299 299 334 8% 117
T S
440 10 10 10 0 00
S
440-00 10 10 10 0 00
SETL
205 6,929 6,929 7,708 79 112
MERSITL) 29
210 6,854 6,854 7,646 791 115
Soy
210-01 1,419 1,419 1,442 23 16
SRS
210-02 456 456 500 IVRY:
ZBR3YHA
210-03 8 8 10 2 198
=l
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2OHSIE)IZ/2HUS YR (9] : 84DI2l, %]
Cop o o o g 20154 7= I . zus
S0F 22 D203 ORI HRAY 2 A2 ox T 20164 HE(B) | ELC=B-A) | T
210-07 759 759 959 199  26.2
Az
210-09 421 421 470 49 11.6
A EHIS LI
210-10 150 150 166 16 10.6
PNENSE
210-15 3,571 3,571 4,036 465 130
SIEtAIH|
210-16 69 69 62 A7 A98
JlEr2 gl
220 8 8 8 0 29
o1t
22001 8 8 8 0 29
2ol
240 25 25 27 2 88
Y|
240-01 25 25 27 2 88
AriZ=ZIb|
430 42 42 28 Al4 4330
SETIA
430-01 42 42 28 Al4 A330
a3 S|
9700 39,683 37,149 70,219 33,070 89.0
SN328
9706 39,683 37,149 70,219 33,070 89.0
S3287I120X(HSIID)
971 39,683 37,149 70,219 33,070  89.0
2WHSTZIIZUA HISHSEIIR20| MK
470 39,683 37,149 70,219 33,070  89.0
CNEEESIEC T
470-03 39,683 37,149 70,219 33,070 89.0
HIE5I2871 2012
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= o o
Al &2 22 352 9 HN A
2 AR 1$]
201648 H =
e
o4 T o
[38190] 1,650,891,000 | =2IHEIEI =/
[060] 1,650,891,000 | 23t 2t
[063] 1,553,079,000 | M=
[5100] 359,895,000 | MEHSSH
[5161] 136,317,000 | MEH= &4t
[300] 12,820,000 | Z20IMEH g3 &9 K&
[320] 11,704,000 | 212+0|&
[320-01] 11,704,000 | SI2HEAMEX
1. 20IME 53 29
3,966,000 3,966,000,000&=
2 W= ==Y oIEtsl N
5,002,000 5,002,000,000&=
3. AP MEss 29 X(elzZh
2,736,000 2,736,000,000&=
[330] 1,116,000 | XFXISHHIO|™
[330-01] 1,116,000 | AFX|SHHHAE X
1. NEMEHES 2L XK (XIXHA)
1,116,000 1,116,000,000&=
[302] 43,465,000 | MEtds =208 X
[320] 43,465,000 | SI2t0|A
[320-01] 43,465,000 | SI2tAAEX
1. MOHFD|E MEES X2
37,060,000 37,060,000,000&=
2. AAHE MEHE XA
5,205,000 5,205,000,000&=
3. Egesioled 29
0%i=
4. J|El MEX|SCHH K&
1,200,000 1,200,000,000&=
[303] 456,000 | MEHHs 2MEs X

: 063-5100-5161-303—




&l @ JE, 18]
201649 A=
Ic
- el LA S
[320] 456,000 | BI2t01H
[320-01] 456,000 | IMBAER
1. dEH= =MuUFIAA
456,000 456,000,000&=
[305] 6,996,000 | =2IMQIE
[110] 257,500 | 124H|
[110-08] 257,500 | £€8e=
1. QIHHI(2SHEAL MASERY)
257,500 257,500,000&=
[210] 1,298,500 | 24|
[210-01] 928,500 | LEt+=ZH|
1. TVEZDE WA & MMAIAY A5 S
928,500 928,500,000&=
[210-02] 42,000 | SESQ=2AMA
1. &84l ¥ 288 S
42,000 42,000,000&=
[210-07] 135,000 | &Xt=
1. NEAIEE
135,000 135,000,000& =
[210-16] 193,000 | JIEF2ZHI
1. dblADS Y AIHEHS] Iz S
193,000 193,000,000& =
[220] 84,000 | Oitl
[220-01] 84,000 | =LHOIYI
1. FLHHEISHY S AA
84,000 84,000,000&=
[320] 79,000 | @l2+0lH
[320-03] 79,000 | H2X=2
1. 2SHEAM 2 HESERF AUH2ES
79,000 79,000,000&=
[330] 4,927,000 | KXISAHIOIA
[330-01] 4,927,000 | AXISHBAER
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1. 20X ISHIE oldl & 2|
4,927,000 4,927,000,000&=
[430] 350,000 | =& A&
[430-01] 350,000 | ArebE=H|
1. HEISHH HESE I 2L
350,000 350,000,000&=
[306] 21,636,000 | M= HE2HS & E=2ES
[110] 6,500 | 214H|
[110-03] 6,500 | 2822
1. WY BXe@ 21|
6,500 6,500,000&=
2. HISAE Sg 2l 2EX Q12|
0&=
[210] 91,200 | 2ZHl
[210-01] 60,860 | LEt==SH]
1. HISAILEE d=XA S
0&=
2. MSYUA & IMAEE oMM WS
60,860 60,860,000&=
3. HEAIAHEN 29 L OFM 22| S
0=
[210-02] 3,500 | BSLSLHA
1. MSWA(BIZY)
3,500 3,500,000&=
[210-07] 9,040 | ¥tz
1. iAo S(Zola & FH| it S
9,040 9,040,000&=
2. otdge| AEEA S
0=
[210-16] 17,800 | JIEt2ZH|
1. HSYA 2 AMAZZOM(WRE)
17,800 17,800,000&=
[320] 20,138,300 | 2lz2t0IA
[320-01] 19,636,000 | SIZtHAEX
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1. MEX ST
600,000 600,000,000&=
2. MENSERL NS
3,932,000 3,932,000,000&=
3. OHNBH AELXEE XIS
3,300,000 3,300,000,000&=
4. JEIISESX
11,804,000 11.,804,000,000&=
[320-03] 2,300 | HS3XS3
1. 4UEE=E S
2,300 2,300,000&=
[320-07] 500,000 | 2IR>ItEEE
1. 8% AL A
500,000 500,000,000&=
(330] 1,400,000 | XEXIEHHIOIE
[330-01] 1,400,000 | RXISHBAEE
1. 0l=dl H2H 2HSE i3l
500,000 500,000,000&=
2. =8 2HANZIITH3
900,000 900,000,000&=
[307] 50,944,000 | X S-23t0I=Ael XI&
[320] 50,944,000 | 2I2}0IH
[320-01] 50,944,000 | RIHHAEZ
1. SnASEL3E
9,500,000 | 9,500,000,00024=
2. 81 T 2SAI|T 245
9.024,000 | 9,024,000,00024=
3. ME 24 2 X2
3,357,000 |  3,357,000,00024=
4. W2ele oy
14,845,000 |  14,845,000,0008=
5. 23101z HA20F |4
6,590,000 6,590,000,000&=
6. Ms 230ls ME
7,628,000 7,628,000,000&=
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[5162] 45,293,000 | AIE MBS XX
[300] 13,172,000 | AZEAX0/EA X2
[110] 16,600 | Q124H|
[110-03] 16,600 | Y222
1. ASHMIE Q1|
16,600 16,600,00024=
[210] 304,000 | 29|
[210-01] 239,000 | Lgr2H|
1. AIAE DN S
239,000 239,000,000=
[210-02] 15,000 | E2B=2LAA
1. S4H|
15,000 15,000,00084=
[210-09] 10,000 | Al&EHISXIHI
1. AIAE ST
10,000 10,000,0008=
[210-16] 40,000 | JIEI29H|
1. OLOICI =22
40,000 40,000,0008=
[320] 3,400 | @IZto|A
[320-03] 3,400 | HZX22
1. 4HEE =2
3,400 3,400,00084=
[330] 12,848,000 | XHXIEHHIO1 &
[330-01] 12,848,000 | RIXISHHIZAB X
1. ATX2AN XR(HASES)
12,848,000 12,848,000,0008=
[301] 32,121,000 | MEHSXCA &S XI(ABIAEIA)
[330] 32,121,000 | KEXISHHIOI&
[330-01] 32,121,000 | AXISHABAE X
1. LEHMSIY K XIS X HHX
17,002,000 17,002,000,0008=
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15,119,000 15,119,000,000&=
[5163] 143,318,000 | HEM=AIE XA
[300] 46,850,000 | =2IMISHE HEXIE
[210] 50,000 | Sl
[210-01] 50000 | Yer+EH|
1. AAE 290 U Aleg|
50,000 |  50,000,0008=
[330] 46,800,000 | AFXIEHIOIS
[330-08] 46,800,000 | KHXIEHHIXIEE X
46,800,000 | 1. =2IMSHH AHE
oh A=A
44,800,000 44,800,000,000&=
Lt Al
2,000,000 2,000,000,000&=
[303] 14,860,000 | LS U=SHEMSs2 A48 X2
[210] 100,000 | 2&HI
[210-01] 100,000 | YEr+ZH|
1. AILE 29 2 Alledt|
100,000 100,000,000 =
[330] 14,760,000 | XtXISHHIOIE
[330-03] 14,760,000 | XIXISHHXI=2EZ
1.l Esh OS2 AT
14,760,000 14,760,000,000& =
[306] 35,164,000 | JIZMEXS M= K&
[320] 5,740,000 | 2I2to|A
[320-07] 5,740,000 | QI2tRH=EE
1. SAMHE 12
3,940,000 3,940,000,000&=
2. MIRSIHEME 20
1,800,000 1,800,000,000& =
[330] 24,595,000 | AHXIEHHIOIA
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1. AUAE 2 X
5,095,000 5,095,000,000&=
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3. HE NUHHSBAY | FNFANA(E5AY 515
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3,000,000 3,000,000,000&=
[420] 4,829,000 | A&
[420-06] 4,829,000 | A&IHF
1. QHEAIY AFS2 X4
2,361,000 2,361,000,000&=
2. RFAY AEXFBMY £
2,468,000 2,468,000,000&=
[309] 46,444,000 | SSHSAIE 2=+ XA
[330] 46,444,000 | XHXISHHIOIE
[330-03] 46,444,000 | ARISHHAZE X
1. =& FSAL H=Es
11,944,000 | 11,944,000,0008=
2. TOHQ! BOIAIA 24
10,000,000 | 10,000,000,0008=
3. 2OIAY ok 2Et 2T RS
14,500,000 14,500,000,000&=
4. ZE o17E AY
5,000,000 5,000,000,000&=
5. U7 Ne2s® =2)|1% 212gy
5,000,000 5,000,000,000&=
[5164] 34,967,000 | stWM= S4
[300] 12,776,000 | =S&tw AZ=2AF HIXI X2
[330] 12,776,000 | KHXIEHHIOIE
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13,108,000
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13,108,000
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1. el
9,149,000,000&=
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1,133,000,000&=
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4, AEXASAMY
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4. SOyl 2 Xd
8,067,000 8,067,000,000&=
[307] 17,904,000 | & =2sHAZ=SS
[320] 17,904,000 | 2I12t01&
[320-01] 17,904,000 | QI2tAAEX
1. SHAZ= olZgt =
3,184,000 3,184,000,000&=
2. SHES 28T 4
13,020,000 13,020,000,000&=
3. HIHES= sEAE 29
1,700,000 1,700,000,000& =
[308] 115,400,000 | =OIHE ZSEEHE HE(2EHH)
[320] 115,400,000 | SI2t0IA
[320-07] 115,400,000 | GI2tXt=2=
1. 2HHE S H( 2EH)
115,400,000 115,400,000,000&=
[312] 78,981,000 | R4 X3
[320] 78,981,000 | 2I2t0|&
[320-01] 73,430,000 | QI2tAAEE
1.2 e 235 23
35,234,000 35,234,000,000&=
2. S Y dZE 29
7,796,000 7,796,000,000&=
3. AH HdxE 2Y
9,611,000 9,611,000,000&=
4. e SEXE
18,935,000 18,935,000,000& =
5. MeE=Ed3 AE
1,854,000 1,854,000,000%=
[320-07] 5,551,000 | SIZtA=E X
1. 8=& AE 22
5,551,000 5,551,000,000=
[315] 2,000,000 | 2MsLUS2 HY
[320] 2,000,000 | SI2t0I&
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[320-07] 2,000,000 | SIZtA=E X
1. HUS2t HE(SAZH] 250212 0IU)
2,000,000 2,000,000,000&=
[316] 2,076,000 | MM =4
[320] 2,076,000 | gl2+0lH
[320-01] 2,076,000 | SI2tHAEX
1. HSUMSEME D12t 23| XA
1,735,000 1,735,000,000& =
2.H==20F SEAE2I WK
341,000 341,000,000&=
[317] 101,889,000 | ==SHMIXIR
[320] 101,889,000 | 2I12t0I&
[320-01] 101,889,000 | SI2tAAEX
1. Z8 ALXEHG]
31,203,000 31,203,000,000&=
2. |KAE Ol AXx 2-35t XY
35,343,000 35,343,000,000&=
3 MSAESEEH gL B X2
21,206,000 21,206,000,000&=
4, TRATX HUAY L SSAY X
14,137,000 14,137,000,000&=
[5262] 42,359,000 | AIS&ZH=F
[300] 42,359,000 | E=(AEHE X
[320] 7,040,000 | @l2+0lH
[320-01] 7,040,000 | @l2tAFAEE
1. d=HE 2]
998,000 998,000,000&=
2. NEHI=3 X (2e)
1,300,000 1,300,000,000&=
3. M=IFAEME 23Ul
212,000 212,000,000&=
4, 2L SHY|
4,530,000 4,530,000,000=
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[330] 35,319,000 | REXICSHHIOIA
[330-01] 8,519,000 | RXICHBASE
IR
3,500,000 | 3,500,000,0008=
2. MRAEME =2t
5,019,000 | 5,019,000,0008=
[330-03] 26,800,000 | KIXISHIXIZEE
I SSE2AMA( 169 JHE)
7,800,000 | 7,800,000,00021=
2. ESHIMA(17E HA)
15,000,000 |  15,000,000,0008=
3. MEFIMT(18E W)
4,000,000 | 4,000,000,0008=
[5263] 15,290,000 | XISQI=XIAS
[300] 11,392,000 | MSOI=TIAY
[310] 9,513,000 | 2&=
[310-01] 9,513,000 | B2
REPEE R
9,513,000 |  9,513,000,0008=
[320] 1,879,000 | @I2H0[&
[320-01] 1,879,000 | QIRHHEE
RS EENE =
1,879,000 |  1,879,000,0008=
[301] 3,898,000 | ZHOHHSOl SXIAI
[310] 3,197,000 | 2&=
[310-01] 3,197,000 | 242
REPEE R ==
3,197,000 | 3,197,000,0008=
[320] 701,000 | @I2H0I
[320-01] 701,000 | LIBAEE
I E=NENEENES S
701,000 | 701,000,000%=
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[5300] 565,032,000 | AE=AY S4 X SHWF
[5361] 409,525,000 | =M= K&
[300] 3,485,000 | =HMELE K&
[320] 3,485,000 | gI2HO|A
[320-01] 3,485,000 | QItBAEX
1. EAEMsLR
1,709,000 | 1,709,000,0008/=
2. FNHS DT
350,000 | 350,000,0008/=
3. U=NSDE
97,000 97,000,000&=
4 FEEBI| ZH Y 1A
186,000 186,000,000& =
5. 2AUEAIT=N
855,000 855,000,000&=
6. BEMZSYE HO| 29| T4
288,000 288,000,000&=
[301] 4,347,000 | SEEUXESKIH
[320] 4,347,000 | IOl
[320-01] 4,347,000 | IAAMEE
RSIET
1,312,000 1,312,000,000&=
2. TEUI AR
1,815,000 1,815,000,000&=
3. SHWASSHE JIs2Y
1,220,000 1,220,000,000&=
[302] 7,223,000 | =AICHS! JHEl K&
[320] 5,273,000 | EIz2+0|A
[320-01] 5,273,000 | QIAMEE
LB ERE
3,573,000 3,573,000,000&=
2. BISHIHEH At
500,000 | 500,000,0008/=

= . 063-5300-5361-302-320 :

HE|-AEXIMY |4

0

bl

SMuF-=HMH=F XE-=HMH2 HE X

W

58 -

21-012}0|



2016 A=

oy
12

LH

12

500,000

700,000

3. Zelotd =HEWa Izl
500,000,000&=

4. ZcIot 2 HILIAW= X2
700,000,000&=

[330]

1,950,000

REXIEEHI01 &

[330-01]

1,950,000

AN

m

b el

FA

200,000

500,000

150,000

100,000

500,000

500,000

1. eI QeI Uel K&
200,000,000&=
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1. AR £33 AS 0 2DHMTJ(302Y &)
3,000,000 3,000,000,0002=
[311] 343,838,000 | 2018HESH2THI U X
[320] 2,700,000 | 2I2+0|H
[320-01] 2,700,000 | RIZHHAIEX
1. 2018EESHEOHOISBIL 2YH| M2
2,700,000 2,700,000,0002=
2. BESHSTL HJ| 2HAZX A5 ALY
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[330] 341,138,000 | XFXISHHIOIA
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76,300,000 76,300,000,00024=
3. T MYUER HA
50,000,000 50,000,000,000=
4, NHSAMH AL
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5. 01 ZIIE 24
25,688,000 25,688,000,000=
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[312] 5,896,000 | HE= ATX LAX|2(ODA)
[320] 5,196,000 | 2I12+0|&
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1. HE=4S s IHE
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3. MNE2 ARSI NSUE
2,227,000 2,227,000,0002=
4, ALXSBHI T2 724(812H
812,000 812,000,0002=
[330] 700,000 | KEXISHHIOIH

 063-5300-5361-312-330 :

HMS-AZZLY 4

(=S

ZHUE-MHF NE-He= AE=

LA X2 (ODA)-KHXIEHHI 01 ™

360 -



2016 A=

oy
12

LH

12

[330-01] 700,000

ANRSHH B2 X

700,000

1. AZLXSHINZZ2 (S T2 78H)

700,000,000&=

[314] 6,950,000

=M=l &It

[320] 6,950,000

[320-01] 6,950,000

6,112,000

838,000

1. SHESEZ0IU=
6,112,000,000&=

2. NiAId==ZITHSl & DIEI=HIO2 SR
838,000,000&=

[317] 4,000,000

2018 EZAIAAZ S =2 T2

[330] 4,000,000

KEXIEHOI &

[330-03] 4,000,000

KX S EE X

4,000,000

1. EE=MAMEE clgE

4,000,000,000&=

[318] 2,000,000

2019 SFHAI=SH =22

[320] 2,000,000

Qo

i}

[320-01] 2,000,000

(m]

It AEE

r

2,000,000

1. XA 2E2 2|

2,000,000,000&=

[5362] 14,071,000

ARXAY AR G J=IHL(R&D)

[600] 14,071,000

AREMAD|ED|BHEHE(R&D)

[110] 157,200

[110-02] 122,000

122,000

1. PD elzit|
122,000,000&=

[110-03] 35,200

olzolx
Soo

35,200

1. AAREXE 12|

35,200,000&=

[210] 199,800

24|

[210-01] 194,300

2 Bt=ZH|

= 1 063-5300-5362-600-210 : H[-ALXAN
I (RID)-AZE=AA | =D B R (R&D) -2

e
4
He



2016 A=

2E
B =L LK &
1. XIS$42 & SHeHHl S
194,300 194,300,000&=
[210-02] 500 | SZL2LAIA|
1. 2ER
500 500,000&=
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1. ALXAY DS J|8F X4 2 89
13,000 13,000,000 =
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